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6 + 3 = ……………       2 + 7 = ……………       5 + 6 = ……………  
1 + 8 = ……………       6 + 6 = ……………       7 + 6 = ……………  

 8 + 3 = ……………      4 + 6 = ……………       6 + 8 = ……………  

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  Il y avait    Il reste    s’envolent.  

  oiseaux restent sur la branche. 

*Les  oiseaux 

**Les  ballons 

***Les  gâteaux 

  Il y avait    éclatent. 

  sont mangés. 

  Il reste  

  ballons. 

  gâteaux. 

  Il reste    Il y avait  



 
 

 

 

 

 



 
 

  

 


